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Find all real zeros of the polynomial 
equation 𝟑𝒙𝟐 + 𝟐𝟎𝒙 − 𝟑𝟐 = 𝟎 

−∞, −3 ∪ −3,4 ∪ (4, ∞) 
&   −∞, 0.5 ∪ (0.5, 2) ∪ (2, ∞) 

Use synthetic division to determine 

if 𝒙 =
𝟐

𝟑
 is a solution of the function 

   
𝒇 𝒙 = 𝟑𝒙𝟑 − 𝟖𝒙𝟐 − 𝟐𝟎𝒙 + 𝟏𝟔 

4
8,  

3
x x  

Verify that (𝒙 − 𝟒) is a factor of the polynomial 
𝒇 𝒙 = 𝒙𝟑 + 𝟒𝒙𝟐 − 𝟐𝟓𝒙 − 𝟐𝟖  

using synthetic division.  

Use your quotient to write the complete 
factorization of f. 

Yes 

Write the complex number 

𝟖 + −𝟏𝟎𝟎 in standard form. 

(𝑥 − 4)(𝑥 + 7)(𝑥 + 1) 

Find the product  
(𝟏𝟎 − 𝟖𝒊)(𝟐 − 𝟑𝒊) 

8 + 10𝑖 

Find the coordinate of the hole of the graph 
of the following rational function: 

 

𝒉 𝒙 =
𝟐𝒙 − 𝟖

𝒙𝟐 − 𝟕𝒙 + 𝟏𝟐
 

−4 − 46𝑖 
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Write the quotient in standard form 
𝟔 + 𝒊

𝟒 − 𝒊
 

(4, 2) 

Find a third degree polynomial function 
with real coefficients that has zeros of -1 

and -3i. 

23

17
+

10

17
𝑖 

Find the domain of the function  

𝒇 𝒙 =
𝟖

𝒙𝟐 − 𝟏𝟎𝒙 + 𝟐𝟒
 

in interval notation. 

𝑓 𝑥 = 𝑥3 + 𝑥2 + 9𝑥 + 9 

What is the equation of the slant asymptote 
of the function 

 

𝒇 𝒙 =
𝒙𝟐 − 𝟒𝒙

𝒙 + 𝟐
 

(−∞, 4) ∪ (4,6) ∪ (6, ∞) 

What is the domain and range of the graph 
of the function below? 

 

𝑦 = 𝑥 − 6 

Please use synthetic division to evaluate 
𝐣(−𝟑): 

 
𝒋 𝒙 = 𝟐𝒙𝟑 − 𝒙𝟐 + 𝒙 − 𝟐 

 

−∞, 2 ∪ 2,3 ∪ (3, ∞) 
& (−∞, 1) ∪ (1,2) ∪ (2, ∞) 
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A biologist introduces a population of 
ladybugs into a crop field given by the model  

𝑷 =
𝟏𝟎𝟎𝟎(𝟏 + 𝟑𝒕)

𝟓 + 𝒕
 

What is the initial population of the 
ladybugs? 

-68 

Please find all zeros of the following 
polynomial function: 

 
𝒇 𝒙 = 𝒙𝟑 + 𝟒𝒙𝟐 + 𝟗𝒙 + 𝟏𝟎 

200 ladybugs 

-2, -1+2i, -1-2i 

What is the domain and range of the graph 
of the function? 

 


